
62/$6�6<5$+���20

^ŽůĂƐ�ƐǇƌĂŚ��ŝƐ�ƐƵƉƉůĞ�ĂŶĚ�ŐĞŶĞƌŽƵƐ�ǁŝƚŚ�ƐƵŵƉƚƵŽƵƐ�ƌĞĚ�ĨƌƵŝƚƐ�ĂŶĚ�ŝŶƚĞŶƐĞ�͕�
ƐƉŝĐǇ�ĂƌŽŵĂƐ�ŽĨ�ďůĂĐŬďĞƌƌǇ�ĂŶĚ�ǀŝŽůĞƚƐ 

6200(/,(5�5(&200(1'$7,216 

7$67,1*�127(6 

ͨ� ^ŽůĂƐ� ͩ� ŝƐ� ƚŚĞ� /ƌŝƐŚ� ĨŽƌ� ͚ůŝŐŚƚ͛� ĂŶĚ� ŝŶ� KůĚ� &ƌĞŶĐŚ�
ŵĞĂŶƐ� ͚ũŽǇ͕͛� ͚ƉůĞĂƐƵƌĞ͕͛� ͚ĞŶũŽǇŵĞŶƚ͛͘� KƵƌ� ^ŽůĂƐ�
ǁŝŶĞƐ� ƌĞŇĞĐƚ� ƚŚĞ� ƉƵƌŝƚǇ͕� ďĂůĂŶĐĞ� ĂŶĚ� ůŝŐŚƚ� ŚĂŶĚĞĚ�
ĂƉƉƌŽĂĐŚ� ƚŚĂƚ� ĐŚĂƌĂĐƚĞƌŝǌĞƐ� >ĂƵƌĞŶƚ͛Ɛ� ĂƉƉƌŽĂĐŚ� ƚŽ�
ǁŝŶĞŵĂŬŝŶŐ͘� 

WĞƌĨĞĐƚ� ƉĂƌƚŶĞƌ� ĨŽƌ� ǇŽƵƌ� ŵĞĂƚ� ĂŶĚ� ĐŚĞĞƐĞ� ƐŚĂƌŝŶŐ� ƉůĂƩĞƌ͘� �ĂŶ� ďĞ� ƐĞƌǀĞĚ�
ƐůŝŐŚƚůǇ�ĐŚŝůůĞĚ 

7(&+1,&$/�,1)250$7,21 

sŝŶƚĂŐĞ ϮϬ20 �ůĐͬsŽů ϭ4й 

�ƉƉĞůůĂƟŽŶ /'W�WĂǇƐ��ΖŽĐ dŽƚĂů��ĐŝĚŝƚǇ ϯ͕15 

�ŽůŽƌ ZĞĚ Ɖ, 

dĞƌƌŽŝƌ �ĂůĐĂƌĞŽƵƐ�ĐůĂǇ�ƐŽŝů ^ƵŐĂƌ�ĐŽŶƚĞŶƚ 2 

sĂƌŝĞƟĞƐ ^ǇƌĂŚ�ϭϬϬй WƌŽĚƵĐƟŽŶ � 

�ǀĞ͘�zŝĞůĚƐ � �ůŽƐƵƌĞ �ŽƌŬ 

EŝŐŚƚ-ƟŵĞ�,ĂƌǀĞƐƟŶŐ͕��ĞƐƚĞŵŵŝŶŐ͕�>ŽŶŐ�ƚĂŶŬ�ĂŶĚ�ƚĞŵƉĞƌĂƚƵƌĞ�ĐŽŶƚƌŽůůĞĚ�
ĨĞƌŵĞŶƚĂƟŽŶ͕��ŐĞĚ�ĨŽƌ�ϲ�ŵŽŶƚŚƐ�ŝŶ�ŽĂŬ�ďĂƌƌĞůƐ�;ϮϬйͿ͘ 

9,1,),&$7,21�	�$*,1* 
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